5.4\ 2 c
Xz X
(—73) =5 @™ oat+b+cogh2?
y°z yz

D 11 ? 12 3 13 @ 14 3 15



2.

x(3x-2)—dxx| |=72-14xQw [ [oto] gt

@D x+2 @ -x+3 ® 2x-3

@ x+3 B —2x-3



3. —x+2y+2=3y-14d, 2x—y+3=x°f WA OZ LJeERYH?

® 3x @ -3x+1 ® 3x+1

@ 3x+14 3B —-3x+2



210 % 1520 _
4. — o caAEl e el o m,a & gta Fetelen

& e
c



5 = =
|
4 (¢]
=F
WA e B
=1
1]
7}
27
a®p® A
=
9 é—_].—
L
A
2
il 2 ¢] Zdo
|
=9

D 342
p3
@ 9a2b
A 3a3h°
@ 6a3b3
B) 9a43h3



6. A5 ab ol Hote] Bx—by—{y-2(2x+3y)} =ax+by AW, a+b
of 312 Fatol

>R
=¥



moh

F o, o o] Al
o



8. (2x-1)2x+A)=(-2x+2)2+Bx ¥, A-B 9] F2?

D -4 ® -2 3 0 @ 2 B 4



9. o5 AS sk
(2x+3y—4)(2x -3y +4)

® 4x>-y24+y-16 @ 4x>-y2+9y-16
® 4x>-9y* +y-16 @ 4x® 4+ 9y? - 24y - 16

® 4x%2-9y% + 24y — 16



rd
oz

of

L

1003 x 1005+ 1

1004

=

At

o

ozt



11.  (3x% - 9xy) + 3x — (6xy — 8y?) + (<2y) = AASIH?

® 4x-7Ty @ 4x+ 7y ® 2x-Ty

@ 2x+ Ty ® 2x-y



—

12, o5 93} Zo] @A ¥tx]F 9] Zo|7} 2q, YE O] Ful7}t
(24a%b — 20a®b)m L T}, a = 2, b o|Z L5}o]
2},

I
w
117
&




13. ©h& S48 xof Befel Folek

3(x-y)-2(2x-y)=3




14. n o]l A5 o, (-4)% + (-2)" = 276 ot} o] W, m+n 9 g&
ool et

s
=¥



15. 721 4 (72)7 4+ 7271 = 63 & WSl x O] ghE ool

>R
=%



2 3 4 10
X1 = 97, Xg = —, X3 = —, X4 = —, "+, X190 = 70]3]— el
X1 X2 X3 X9

XX X3 x10 9 = Fstofet,



11 11 11
17. x+y+z=0¢ Uﬂ,x(7+f)+y<f+f>+z(f+f>94 W@e
y Z Z X x y

FoA? (T x#0, y#0, z#0)

@D -3 ® -2 B -1 @ 0 B 3



2(4+2) (42 +22) (44 +24) (4¥ +2%) =47 -2 W, A= g,
a+bo 27

@D 2 @ 4 3 16 @ 39 B 64



19.

9" =4 4 o,

@

o)l V]

32x
34% 4- 3«

@

S V]

of g Fohm?

©)

S

DO | Ot

o | ©



9

1 1 1
2 2 2

20. x+y+z=3, xy+yz+zx=-1, xyz=-3 & o, E

gre Fotolet.

e
=¥



21 =, ol e e Fpela,

1 3
_2x3y3 - (_ixy) X (_2x2y2)3




